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CE 211 INTRODUCTION TO STRUCTURES FINAL EXAMINATION

Question One [Internal Member Forces] (10 marks)

a) Discuss the Method of Joints and the Method of Sections and state their advantages or
disadvantages in determining internal member forces of a truss or frame. (2 Marks)

b) Using the method of sections, write the equations and plot the shear force and bending moment
diagrams for the cantilever beam shown in Figure Q1B. Indicate the salient values, (4 Marks)

5 kN

3m /

¢) Find the forces in the members BC, CF, and CE in the pin-jointed plane frame shown in ABCDEF
shown in Figure Q1C and state the nature of the forces. Loads and dimensions are given in the
diagram. (4 Marks)

20 kN 10 kN

Notes: 1. Roller Support @A, Pinned Support @B
2. All members are 2 m long except as shown

Figure Q1C
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CE 211 INTRODUCTION TO STRUCTURES FINAL EXAMINATION

Question Four [Singularity Functions] (10 marks)

(a) Briefly discuss what singularity functions are and state why it is necessary for solving beam
loadings. (3 Marks)

(b) Using Singularity Functions, express the shear forces and bending moment in the beam shown in
Figure Q4, and draw the shear force and bending moment diagrams for the beam and indicate
principal values. Loads and dimensions are indicated in the diagram. (7 Marks)

50. kN 40 kN

-

10 kN/m

|R2
:I' ln/ 2 M~
|\ /[\ /I\ /l\ /l
Figure Q4
Question Five [Torsion of Solid/Hallow Shafts] (10marks)

(a) A hallow shaft has to transmit 6 MW at 150 rev/min. The maximum allowable stress is not to exceed
60 MN/m2 not the angle of twist 0.3 ° per meter length of shafting. If the outside diameter of the shaft is
300 mm find the minimum thickness of the hollow shaft to satisfy the above conditions. G = 80 GN/mz2,

(4 Marks)

(b) A steel shaft 3 m long is transmitting 1 MW at 240 rev/min. The working conditions to be satisfied by
the shaft are: (6 Marks)
1. That the shaft must not twist more than 0.02 radian on a length of 10 diameters;
2. That the working stress must not exceed 60 MN/m?.
If the modulus of rigidity of steel is 80 GN/m? what is
(i) The diameter of the shaft required;
(ii) The actual working stress;
(i) ~ The angle of twist of the 3 m length?
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CE 211 INTRODUCTION TO STRUCTURES FINAL EXAMINATION

Question Two [Space Frame: Tension Coefficient Method] (10 marks)

Determine the forces in the pin-jointed tripod cantilever bracket shown in Figure Q2.

Front-View Side View

Figure Q2

Question Three [Three-pinned Arch] (10 marks)

a) Whatis the difference between a two-pinned arch and a three-pinned arch? (2 marks)

b) A three-hinged parabolic arch hinged at the supports and at the crown has a span of 24 m and a
central rise of 4 m. It carries a concentrated load of 50kN at 18 m from the left support and a
uniformly distributed load of intensity 30 kN/m over the entire span as shown in Figure Q3. Find
the support reactions at the abutments/supports A and B, and the bending moments at the point
load D and E (point load). Also draw the bending moment diagram for the arch (drawing not to

scale). (8 marks)
/— 30 kN/m 50 kN
AAAAAAAAAAI\AAAAA’\"%\AI\AA
o— 18m

Figure Q3
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CE 211 INTRODUCTION TO STRUCTURES FINAL EXAMINATION

Question Seven [Composite Beam Sections] (10 marks)
(a) State one reasons why a composite beam section may be necessary in design. (1 Marks)

(b) A composite beam consists of a 400 mm x 250mm timber joist strengthened by the addition of two
steel plates 190 mm x 13 mm, as shown in Figure Q7B. The safe stress in the timber is 6.5
N/mmz2, the safe stress in the steel is 175 N/mm2 and modular ration, n =20.

i. Calculate the moment of resistance in N.mm (3 Marks)

ii. If stress in the steel must not exceed 150 N/mm? and the stress in the timber must not
exceed 8 N/mm?, calculate the safe uniformly distributed load in kN/m on a span of 5
meters. (2 Marks)

I' 250mm__ |
B e '—_}‘1 3mm
oS ?
£
X—&———— | —X
=)
<
¥ Caar 2 2 13mm

J90mm 4

Figure Q7B

(c) Atimber beam is reinforced by a Steel plate as shown in Figure Q7C. Transform the two materials
into a timber beam section and calculate the maximum stresses in the two materials for a bending
moment of 15 kN.m, and plot the stress (bending) distribution. Note: Modular Ration, Es/Er = 10.

(4 Marks)

+—150 MM—

M 2
4 20 mm

Steel ~_/

4 300 mm

‘I"lmberm_,.L "

Figure Q7C
END OF EXAMINATION!I ALL THE BESTHIIN
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[Bending & Shear Stress Distribution in Beams] (10 marks)

Question Six

(a) A uniform T-section beam is 150 mm wide and 200 mm deep as shown in Figure Q6A. If the
limiting bending stresses for the material of the beam are 80 N/mm? in compression and 160
MN/m2 in tension, find the maximum uniformly distributed load (udl) w, that the simply supported

beam can carry over a length of 4 m.

(3 Marks)
) oﬁ w =7 kKN/m
T Iy
200mm —
] i o Am -
™~ e
(a) Cross-sectional View (b) Elevation View
Figure Q6A
(b) After determining the UDL W, plot the Shear Force and Bending Moment Diagrams for the simply
(2 Marks)

supported beam in Q6a.

(c) A steel girder beam has a uniform -section (Figure Q) is subjected to a shear force of 250 kN ata
given position on the beam. Plot a curve to show the variation of shear stress distribution across

the section and hence determine the ration of the maximum shear stress to the mean shear stress.
(5 Marks)
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CE 211 FINAL EXAMINATION FORMULA SHEET
Sectlen drea A and Secend moment Radlus of Elastic section N
Centroldal dist. of area gyralien modulys
Ac I 7, Z,
7 rs ] e T
A= S0 - d)y Lot gy Ve z- " - 0
d
=32
o 3 _ s{d 04
A w1y L= gtd 0} 1, = 03540 7, p
c g ~03030 nY
Vs, s i, 1,
A-bd by, L= 1,00°  84,) By a Z,- Q("d Bylg)
0
2
y 3 b
T, B ] 1 e \ 3.
x]_L: ﬂ . A 1, et 4 oy 4 L)
< ll ( v
zzza - | ’
Tl
:'l. H
A b, 1 ' \.‘4' liw !;'
) ) s
ot oo )
R A
,I
/mm I'e
ot ot} .
L 4o 1, 1"2’ Yt bilysy ¢ b,
. ."r, A
A T @ ) d, a4 2 oy 4
d b, 1 1 I
- i P a e

8.

%
53

=
e
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Useful Properties of Areas
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CE 211 FINAL EXAMINATION FORMULA SHEET

Polar Second Moment Area

For a solid shaji,

1R
b r-‘
J = 2r] -
K
0
R wir
= ——  Qa =~
4 32
For a iollove shaft of internal radius r,
Tn
R s )‘4 i)
I = 2n | rdr = 2wl -
. 49,

T pa __ .4 Tyt _ g8
—2(R ) or 32(1) d*)

For thin-walled hollow shafts the values of D and  may be nearly equal, and in such cases
there can be considerable errors in using the above equaton invalving the ditference of two large
quantities of similar value. 1t is therefore convenient 1o obtain an alternative form ol expression
for the polar moment of area.

Now

R

J Mt dr X Carder?

- X4ar

where 4 (= Iardr)is the wea of each small eiement o Fig, 8.3.i.e./is the suns of the A7% terms
for all elemenis.

If a thin holluw cylinder is theicfore considered as just vne of these smali elements with its
wall thickness ¢ = Jr. then

J o= Art = Qarnr?

231 (approximately)

10 l oy e



CE 211 FINAL EXAMINATION FORMULA SHEET

Torsion Formulas

For a solid or hollow shaft of uniform circular cross-section throughout its length, the
theory of purc torsion states that

. J R L
where T is the applied external torque, constant over length L]
7 is the polar second moment of arca of shaft cross-section
nD* . a(D* —d*)
=3 for a solid shaft and 3
D is the outside diameter; R is the outside radius;
d is the inside diamcter;
1 is the shear stress at radius R and is the maximum value for both solid and hollow
shafts;
G is the modulus of rigidity (shear modulus); and
@ is the angle of twist in radians on a length L.

for a hollow shaft;

For very thin-walled hollow shafts
J = 2nr3t, where r is the mean radius of the shaft wall and ¢ is the thickness.

Shear stress and shear strain are rlated to the angle of twist thus:

T = %BR = Gv
Strain energy in torsion is given by
2G6J 2L

For solid shafts

TZ
U= 2-5 x volunic

For a circular shalt subjected to combined bending and torsion the equivalent bending
noment is

M, = M+ + T
and the equivalent torque is
Te = WO +T%)
where M and T arc the applicd bending moment and torque respectively.

9| Paw -



CE 211 FINAL EXAMINATION FORMULA SHEET

Shear Stress Distribution Formulas
Summary

The shear stress in a beam at any transverse cross-scction in its length, and at a point a verti-
cal distance y from the neutral axis, resulting from bending is given by

< o4y

_ @
b or T—Ib_[ydA

where Q@ is the applied vertical shear force at that section; 4 is the area of cross-section “above”
»,i.e. the area between y and the outside of the section, which may be above or below the
neutral axis (N.A.); y is the distance of the centroid of area 4 from the N.A.;7 is the second
moment of arca of the complete cross-section; and b is the breadth of the section at position y.

For rectangular sections,
62d* . _ 30
T = b_da[? —y with Tpax = bd when y =0

For I-section beams the vertical shear in the web is given by
2 2 2
2|4 214 4

N = Qiz.*.g.b{d_z._ﬁ}

with a maximum value of

Tmax T er Vo4

The maximum valuc of the horizontal shear in the flanges is

b
Tmax = % d—t)

L= A2 ()
37R? (R

4Q

Tmax = g2

For circular sections

with a maxinum value of

The shear centre of a section is that point, in or outside the section, through which load must
be applied to produce zero twist of the scction. Should a section have two axes of symmetry,
the point where they cross is automatically the shear centre.

The shear centre of a channel section is given by
. = 2 h%
T4

0b

Tmax = al (d-t;) atthecentre

12 Py
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Composite Shaft - Parallel Connections

If two or more materials are rigidly fixed together such that the applied torque is shared
between them then the composite shaft so formed is said to be connected in parallel (Fig. 8.6).

Fig. 8.6. “Parallel-connected™ shaft — shared torque.

For parallel connection,

total torque T = T, + T,

In this case the angles of twist of each portion are equal and

i.e. for equal lengths (as is normally the case for parallel shafts)

n_ G
T, GyJ,

Thus two equations are obtained in terms.of the torques in each part of the composite shaft
and these torques can thercfore be determined.
The maximum stresses in cach part can then be found from

T1R1 Tsz
Ty =~—— and 7,3 = =
T S
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